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1.Which two Symantec Enterprise Vault features reduce the storage requirements needed by a company
to maintain information? (Select two.)

A. data compression

B. collections on archived data

C. Optimized Single Instance Storage

D. migration of data to tape

E. item conversion to HTML

Answer: AC

2.What is a benefit of archiving Domino user mail files?

A. Archiving makes email available forever.

B. Archiving provides a compliance copy of email.

C. Archiving prevents users from deleting email.

D. Archiving enables efficient search and retrieval of email.
Answer: D

3.Which mailbox archiving strategy can be selected with Symantec Enterprise Vault for Domino?
A. a combination of age-based and quota-based policies

B. a combination of age-based and quota-based policies, starting with large items first

C. age-based policy, starting with large items first

D. quota-based policy, starting with large items first

Answer: C

4.Under which Symantec Enterprise Vault (EV) container are EV sites grouped?
A. Directory

B. Targets

C. Archives

D. Domains

Answer: C

5.What are two primary physical data-storage components of Domino Mailbox Archiving in Symantec
Enterprise Vault? (Select two.)

A. Indexes

B. Archives

C. Vault Store partitions

D. Enterprise Vault server cache

D. Shopping Basket

Answer: AC

6.Which two SQL databases are directly associated with storage in Symantec Enterprise Vault?
A. Directory and Monitoring

B. Partition and Vault Store

C. Directory and Vault Store

D. Fingerprint and Vault Store
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Answer: D

7.What is the purpose of the Symantec Enterprise Vault Directory Service?
A. to update the server license file

B. to control Symantec Enterprise Vault

C. to create the Vault Directory database

D. to provide services access to site configuration information

Answer: D

8.A company plans to establish five Symantec Enterprise Vault (EV) sites and three EV Directories.
How many Monitoring databases should be planned?

Al

B.2

C.3

D.5

Answer: C

9.What is a function of the Task Controller Service in Symantec Enterprise Vault (EV)?
A. to interface between the EV tasks and the Scheduler

B. to manage EV storage of archived data

C. to process results of search requests

D. to manage the archiving tasks that archive data from targets

Answer: D

10.Which connection type is used to archive messages from mail files?
A.HTTP

B. NRPC

C. MAPI

D. SMTP

Answer: B

11.Between which components does Symantec Enterprise Vault Domino Gateway provide access?
A. Mailbox Archiving task and Storage Service

B. Users Notes client and archives

C. Users Notes client and Domino Web Access (DWA)

D. Storage Service and Domino Mail server

Answer: B

12.Which process requires that the Enterprise Vault Domino Gateway (EVDG) be installed in the
environment?

A. Indexing of archived data

B. Lotus Notes access to archived items

C. Enterprise Vault Administrator access to Domino configuration

D. Searching of the Vault Cache
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Answer: B

13.How many Symantec Enterprise Vault Domino Gateway servers are required to support four Domino
Journal servers?

A.0

B.1

C.2

D. 4

Answer: A

14.For which two core databases should an administrator allocate storage before the first Enterprise Vault
server is configured? (Select two.)

A. Vault Directory database

B. Vault Store database

C. Reporting database

D. Monitoring database

E. Fingerprint database

Answer: AD

15.A global organization plans to deploy Symantec Enterprise Vault (EV). The organization has a severe
limit on the connectivity between two sites. Site A supports four remote offices, and Site B supports eight
remote offices. The administrators have determined that a global deployment of EV is unrealistic.

How should the organization deploy EV?

A. Deploy multiple EV Directories.

B. Deploy multiple EV sites that share a single directory.

C. Deploy all EV servers in Site A.

D. Place the EV Directory database in the larger of the two sites.

Answer: A




